. Resuelve la ecuacion:

1. 7x-2(x-1)-3(2x-3) = 9

5. 3-2(x-2) = 9x-3(3%-2)

9. 5x-2(x+2) = 2(2x-3)+3
13. 3(x+3)-3(3x+2) = 2-5x
17. 15-2(2x+3) = 3(x+3)-7x

. Resuelve la ecuacion:

1. 4-5x = 2(x2—3x)—2x(x—2)

4. 23-10x = 3(x-3)2—3(x2—3x)

7. 224747 = X(2x+3)+3(x+3)
10. x(x+2)+2(x2—2x)+4x = 3x%-1
13.

16.

. Resuelve la ecuacion:
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13. +x =1

2
17. X = 1- —(x+1
15( )

. Resuelve la ecuacion:

2

X-5 X +X+1

T ox+l X

X+3 _

224X
5 3x17  x*xtl _ x+2

3x%-x X

"3 9x-3

. Resuelve la ecuacion:
1. 3(2x+2)-x%+3 = 6x
5. X(2x-1)-6x = 5x°+4
9. 5-2x? = 5x-2(2x-2)
13. 2(2x+1)-4x = 4x%+3
2(2x2+3x)—9x = 5x2
2X(x+2)-Xx?-5%-6 = 0

17.
21.
12x-3x(x+3) = 2-2%°
5X?+2X-4 = 2(3x2-x)
6x2-3x(3x-3)-11x = 0
4-10x = 2X(3%-3)-3x°
2(2x2-2x)-6x2+3x =0

25.
29.
33.
37.
41.

2. 9-3(x+2) = 5x-2(3x-1)
6. 2(x+2)-9x = 4-3(2x+1)

10.
14.
. 10-2(3x+2) = 2(x+3)-8x

2(2x+2)%-3(2x-3)-8x%-8x = 14
2(x-3)2+3(3x2-3x)+21x = 11x%+18

2.

6.

10.
14.
18.
22.
26.
30.
34.
38.
42.

3-8x = 2(x+3)-3(3x+2)
3(3x+3)-3(2x-1)-11 = x

2. 3x(2x-3)-4 = 3(2x2-x)-5x 3.
5. 3x(x+2)-3(x+2)-3x° = 4x-9 6.
8. x%-2x(2x-2)-2x = 1-x(3x-3) 9.

1 x-2 x+2
—_——— = 1
4 6 4
X-3 X-2 _, 2x+1
5 2 5
“ 4x-5 ) 2x-1 _ X+2
10 3 10
x-1- 8x2 i(x—2) =
27
ox- 8L g(x—1) Xl
10 5

X2 XP4x-5 _ xtl
X 2x%-3x 2%-3

} X24x-25 X

x°-9

X-3 Xx+3

11x-3(3x+1)+1 = x?
2X(3%-1)-2x%4x = 3
4XP-4x+5 = 2(2x+1)
2X(x+2)-3x% = 7x-4
X(X+2)+11x+4 = -2x2
2-4x? = 15x-2(3x-2)
8x2-3(3x2-x) = 2x-2
3x%+4 = 2X(2x-2)+4x
3(3x2—3)—18x2+13 =0
2(2x-3)-2x%+3x+3 =0
—2(2x2—x)—15x—6 = 2x?

+1
X -0

3. 12-3x = 3(x+3)-2(x-3)

7. 3(x+3)+2(x+3)-4x = 16 8.
11. 8x-2(3x-1)-1 = 2(3x-1) 12
15. 2(3x+2)-11x = 2-2(x+1) 16
19. 12x+13 = 3(x+3)+3(3x+2) 20

. 6x2—3x(x—3)—3x+1 = X(3x+3)
. X(2x+3)+10x%+3x = 3(2x+1)%-8x
. 12x2—x(3x+2)+6 = 3X(3x-3)+7x

19.

11.
15.
19.
23.
27.
31.
35.
39.
43.

. 9x-4x? = 18-3(x+3)

12.
15.
18.

4. 3(2x-2)+3(x-1)+8 = 8x

2(3x+2)-2(3x+1) = x+3

. 3(3x-1)-11x+8 = 2(x+1)
. 3(x+3)-11x = 2-2(3%x-3)
. 3(x-3)+3(3%x-2)+20 = 12x

2-x%-8x = 2X(x-3)-x(3x-1)
2X(3x+2)+X(3x+1)-9x? = 6X
2x(3x+1)-2(3x2-2)-3x-4 =0
X(X-1)+5X%+6X = 2(3x2+x)—2
2(3x-1)%+20x-1 = 21x%-3x(x-3)
14x%+18x+16 = 2x(x—3)+3(2x+2)2
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- + + + +
. g(x+l)— 10x-13 _1=3x 2 16. X+2 = 3X 1—3x=2— 7X+4
5 30 15 4 8
21x-10 N 3x+1 2 =§(x+1) 0. i(3x+2)+ 3x-1 3x-1
18 6 2 9
Cx+7 _x1 XP4x+15 Xt Xt X2+x-7
4x-4 X+l 4x2.4 T 2x#3 X 2x%43x
1 x6  xt2 _ xxtl 417 | AXHT o x%+x+1

3 Ox-9 9x+9 9gy2.9

6X2—3X(3X+1)+4 =X 12
10x%+4x = 3(3x2+x) 16
3(x+3)-6x%-14x = 12 20
2(x+3)+10 = 3x%+10x 24
3x+4 = 2x(2x-1)+2x> 28
EX?+6X+5 = 2(2x2+x) 32
10-4x = 9x2-2(3x2-3) 36
X(2x+2)-18x? = 9-22x 40
3X2—2(3x2—2x)—11x =4 44

4x-8

10X-7%2 = 4-x(x+1) 4.

4x+8 - X2-4

1-7x = 3(x2—2x)—x2

8. 3x(x+2)-2x%-1 = 6X

. 3x(x+3)—5x2 = 6x+1

. 2x%48x = X(3x+2)+9

. 3(2x-3)-11x+6 = 2x°?

. 3(x+2)+2x%-2x-7 =0

. 3(2x+3)-3x? = 2x+10

. 18x%-3x(2x-1)-2x = 6

. 3x(x—1)—7x2+3x+9 =0
. 2x-9 = 5x2-2(2x2+2x)
. 9x-10x% = 1-2(3x2-2x)



45. x(2x-2)-10x%-8%-3 = 0

6. Resuelve la ecuacion:

10.

xt4 X(X-2) _ 1
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2 2
5_2x+3_11x 6=2
2 10

2. X(7x-1) _ x(2x+1)
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2x%+3 } 5x2-4x-18 B
9 27

13. 1

X(X+1) _ 1 7X2-4%-4
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17.

3-x2 ) 2x°-11x-8 )
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21. x=1

. Resuelve la ecuacion:

X+2 _ X-8
2X

+ X__l = 4
2X+2 X+l

1+x 3-x-x°2

=1-

5. 2%
Xx-3 X x2-3x

. Resuelve la ecuacion:

1. 2x%-x*-3 = 2x%-4

5. x*-2x? = 1-4x%+2x*

9. x-2-16x"* = 7-25x%+x
13. x+2+16x*-65x? = x-2
17. 3+17x2-2x-19 = x*-2x
21. 2-3x+81x*-15x%-1=0
25.

29.

144-x4—6x2-x(x—1) =X

4x?-x3-1 = x4—x(x2—2x)

. Resuelve la ecuacion:

1. 4-3x3-x? = 3-3x
5. x3-3x%45x = 3x3-6
9. 4-6x> = x-11x%+5x+3
13. x+10x°-11x-1 = 2-3x*
17. 10-16x2-8x = 1+x+4x°
21. 3x-6x°-7x%-1 = 8-27x
Resuelve la ecuacion:

1. Fx+5=2

6. 4/2x+3-x=0 7.

11. 4/9x2-7-3=0

2. 2-

46.

14.

18.

22. X

6x2-3(3x+3)+10x+8 = 0
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. BX%-x-4 = X
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47.

11.

15.
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X+1

3x(3x+1)-12x%-7x-1= 0
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8 16
X(X+2) ) 2x2-19x-1 - x
9 27

1

1-3x* _ | 12x%+5x+12
9 27

7x2+4x+10 ) X(2x+1) _ 1
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X-4 _ 1-x

3. T+ =

X-5

2x+4

X2 +x+1

X 2X

X+2

C4x+2 4x2-1  4x-2

4 2

-X+X

. 3+24x% = x*+147-x2

. 7x2-19x* = 1-3x*-x2

. x-x"15x%+15 = x-1

. 5x%-x-x*-2x%4x+4 = 0

. 2+x*-2x+62 = 20x2-2x

. 11x2-x?-3(2x%-1)-7 = 0

. 2(3x-2)+x*-6x = 10x*-13

. 9x-4x3-2 = 2x-5

14x-2x% = 6-3x%+3x
X2+6x°3-x+4 = 14x°-x
X+4x3-3x%-6x+3 = x°

-2-8x = 2x3+9x%+142x

6x-3x3-3x%+2 = 3x-Xx2

T 3x-1 X

11.
15.
19.
23.
27.
31.

11.
15.
19.
23.

. 3x%-x% =x

3x%-x

. x-x*-16-x% = x-9x°

4 x3+x+1

x-9x*+81x? = x-x2+9
x3-x*+5x2-1 = 3xHx?
37x2-2x-1 = 3+9x*-2x
3x2-x4-x3 = 13x%-x3+9
2(3x+3)-6x-2 = 5x%-x*

x3(x—2)—2x4+2x3 = 1-2x°

. X-3x%42 = 142x34x

20X-3-6X° = X%+3+X

7-2x3-x2+20x = 2x-2
3+2x345x%46x-2 = 2X
16X2-3-x = 4x°+18x-9

x3+8x = 3x-8x°+4x°+6

x+3 =0 3. X-4/x+2 = 0 4. 3x+12 =3
Xx+5-3x =5 8. /3x+4-x=2 9. 4/4x?+24 =5
3 3
12. 1-4/4x%-3 =0 13. 4/3x3%+7-2=0 14. 1-4/3x%+4 = 0

48

»

12.

16.

2 8
8. X(x+1) ) 5x°-4 =02
3 6
2
X1 n X(x+2) 1-x2=0
2
X(3-X) _ - 20x%+4x-1
4 16
x2+1  3+13x-2x2
X+ - =0

20.

24.

. 12x-3(2x-3)-9x2-10 = 0

X(X+3) - 3(x+1)

8 16

3X(x+1) ) 143x-2%° -2
5 10

5 3xt7 x+l _x-1

"6 18x-6 3x-1 2x

8.

3+ 1+_X -
x-1

13-x 8-x-x° B
X+1 Xz-l

0]

. 5x%-1-x*-2x = 3-2x

8. 2x-x*-1 = 2x-8x°%+15

12.
16.
20.
24.
28.
32.

12.
16.
20.
24.

X-xH2x%+16 = 2x%+x
2x%4+x = 16x*-6x2+x+1
3x-2x%4x*+4 = 3x%+3x
23x%+x-16x4-9 = x-2x?
X(2x-1)-16x*+6x2 = 1-x

2x3—x2(2x+2)—1 =x*-4x?

. 9x-3-9x3-2x+5 = 0

. 2x3+2x%-5x-2 = 3x?

3-3x3-2x%+4x = 5-3x
10x-1-3x3-2x2 = 3x+1
2x—x2—6x3 = x+6—12x2

2-3x3+4x%+3x = 3x%+3

5. X-4/3x-2 =0

10. Jox+7-2=0

15. x+5 = .,/3x+13



16. 4-f4x+22 = 0 17. Jax+24-x =6 18. J3x%45-2= 0 19. 3-Jx3+35 = 0 20. ¥3x+28-3=0
21. x-1=4/3x%-23 22. 4-)/2x%+14 = 0 23. 4/3x%25-1=0 24. Jx+3-3x-7=0 25. sz—%-4 = 2x
26. 3-4/3x°%+33 =0 27. 3x+7 = 4[3x+19 28. 3x-2 = M 29. 3x+6 = M 30. 4/4x%+23-3=0
31. 2x+3 = 2,/2x+3 32. 3x-/x+10+6=0  33.3xtl=Aax+12  34. xP8-3x-6=0  35. 24x°+11-2=0
36. X115 =4Ax3  37. 33x+11-3x =11  38. BxH0-2x-6=0  39. x-[4x2+1245=0  40. /4x2-3-3x-4 =0
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